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The figures in the margin indicate full marks.
Candidates are required to give their answers
in their own words as far as practicable.

Group-A
1. Answer any fen questions : | 10x2=20
(a) What is national income ?
(b) What is stagflation ?
(c) State about the functions of money.
(d) What is transfer income ?
(e) What is investment multiplier ?
(f) Define liquidity trap.

(g) Give a note on Central bank.
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What is inflationary gap ?
What is IS curve ?

What do you understand by natural rate of
unemployment ?

What is open economy ?

What is supply of money ?

Find the value of investment multiplier if
MPC = 0.75.

What is fiscal policy ?
What is Phillips curve ?

Group-B

. Answer any four questions : 4x5=20

(@)

(b)

(c)
(d)

(e)

®

Discuss about the saving-investment identity
of an economic system.

Distinguish between demand pull inflation and
cost push inflation.

Distinguish between GNP and GDP.

How is equilibrium national income determined
in the simple Keynesian model ?

Analyse the effects of inflation.

How do you determine the slope of LM curve.



>

(3)
Group-C

Answer any iwo questions : 2x10=20

(a) Discuss about basic GNP indentity :
C+I+G+(X-M)=GNP=C+S+T+R,

(b) Explain briefly the liquidity preference theory.

(c) Analyse the natures of short run Phillips curve
and long run Phillips curve. 6+4

(d) Explain the devices used by the Central bank
in controlling money supply of an ecomic
system.
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